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i)  Solve the following forx, in terms of =, where O=x <360 19) The expression sec? 0 +csc2 @ is equivalent to
sinx-2sinxcosx=0 A) sin® 6 cos? @ C) v
2)  Find all values of 0 in the interval 0° < 8 <360° that satisfy sin”  cos? 0
) ind 4l values of 6 in the interval 0° < at satis B) 1-tan?0 D) 1+tan 0
the equation cos 20 -cos 6 =0.
. g -4 o + M L= bt Q3
3)  Find all values of 8 in the interval 0° < 6 <360° that satisfy | 2) e expression cos 707 cos 10% +sin 70° sin 10° is
N equivalent to
the equation sin 26 +cos 8 =0.
4)  Hxisapositive acute angle, solve 6 tan x - 23 =0to th A) sin 60° ©) sin 80°
) x is a positive acute angle, solve 6tan x - 2,3=0to the B) cos 60° D) cos 80°
nearest degree.
5)  Ifxis a positive acute angle, solve 4 sin x - 2/2=0to the 21 The‘expressxon sin 50° cos 40° +cos 50° sin 40° is
nearest degree. equivalent to
6) Given 2tan x + 2 =0, solve forx, to the nearest degree, in the A) cos 10° G sin90°
interval 0 = x < 360. B) cos %0° D) sin 10°
7)  Given 2tan x + 2,3 =0, solve forx, to the nearest degree, in 22)  Sincesin 75° =sin (30° +45°), then sin 75° equals
" the interval 0 = x < 360. A) 62 C)r‘/ﬁ-'"/é
o C g o o 4 4
8) - What are all values of 9 in the interval 0° = 6 < 360° that
S . 2 /2 -6 ~6+2
satisfy the equation 2 cos” 0 - 3cos 8 + 1 =0? B) 2 D} 3
9)  Find, to the nearest degree, the solution set of 23) The expression tan (180° -3) is equivalent to
4 cos? x - 1=01n the interval between 0° and 360°. ;
2 .2 2 ' . . . A) -tany ’ ' 0O i 4
10) Express cos” 8 +sin“ 8 +tan” 8 as a single trigonormetric : 1+tany
function. B) -1 1-tan y
2 0 1+tan ¥
cos . . . .
1)’ Express ;———— as a single trigonometric function. 24) The expression sec x sin 2x is equivalent to
-cos” 8
12) Express csc @ - cot 0 cos @ as a single trigonometric 25) The expression S0 is equivalent to
. 2
function. 2cos” A
13) Transformcos 6 ¢sc 6 tan 6 - sin® 8 into an equivalent 26) ‘The expression li,gcizf is equivalent to
expression in terms of the trigonometric function cos 6. sm
- _ 2 - .
14)  Simplify: tanZ 8 cos? 6 + cos? 6 27) The expression cos 2A - cos” A is equivalent to
., 4 5
15) IftanA:gandtanB:-lw,whatistheva.lueoftan(A-i-B)? 28) I zA and /B are acute angles, sin A =—, and cos B_E’
3 2 what is the value ofsin (A -+ B)?
. _sech, .
16) The expression r— is equivalent to 29) IfsinA= % find cos 2A.
A) csco C) sm#d
B) cos® D) seco 30) Ifcos o :—g, find cos 26 and express in simplest form.
17} The expression sin 0 (cot 6 - csc 8) is equivalent to .
. 31) Find the value of tan 2A if'tan A = -\/6.
A) -sin@ C) coss-1
B) cos 8 -sin” @ D) 2cos® 32) IfAis apositive acute angle and cos A = g, find the value of
18) Forall values of 6 for which the expression is defined, sec g sin {’E
csc
is equivalent to
. .. ni
A) cot@ C) cos @ 33) IfAis a positive acute angle and cos A = 2 find the value of
B) siné D) tan @ A
cos —.
CHECK ANSWERS #1-9 CHECK ANSWERS #10-15, 24-33 CHECK ANSWERS
0 0 0 30 45 60 60 60 90 120 | sin® 2sinx -sin’A cos’® a7 7 #16-23
120 120 135 180 210 240 240 | tanA sec’® cotx cot?® 25 4 25 3 AABCCCCD
270 300 300 300 300 315 330 56 26 15
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